Some Questions
[image: image1.png]@ZD Individual membership fees at the Evergreen Tennis Club were $50 in 1970 and have increased by $2 per yes
since then. Write a recurrence relation and initial conditions for n1,,, the membership fee n years after 197




[image: image2.png](fE\sA bank pays 6% interest compounded annually on its passbook savings accounts. Suppose that you depos
" $800 in one of these accounts and make no further deposits or withdrawals. Write a recurrence relation s
initial conditions for b,,. the balance of the account after n years.




[image: image3.png]34) Write a recurrence relation and initial conditions for s,,. the number of three-element subsets of a set with 7
elements.




[image: image4.png]Theorem 9.1 The general term of the first-order linear difference equation with constant co-
efficients 5, = as,_; + b that has initial value s, satisfies
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[image: image5.png]34. Use Theorem 9.1 to find a formula for
Sn = S0+ Sor + 5087+ + 50",

the sumof the firstn + 1 terms of a geometric progression with first term s, and common ratio r # 1. (Hint: The
sequence so. 51, 52 ... . satisfies the first-order linear difference equation s, = rs,_ + sy with initial term s.)





[image: image6.png]36. Let so. 51, 52, . .. be a sequence satisfying the first-order linear difference equation s, = as,_; + b forn > 1,
and define 1, forn > 0by 1, = 5o + 5| + 52 + - - + 5,. Prove by mathematical induction that
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